A

=

R (B4R

THAFE8AN XRE

XA |XHES XHBE X &L XHEF

8A5AH | T h |TINIL M RIAMICHESIFLE(EFHY)1E 4,438 |HIANILE 14T

8A5H | & |[FETORMNoUXKERE HRHMH 7,500 (BFEAKEIFH

8R10B | EHf |EEZtAB/MHSFMR ETHEEAEX FHb5 (E2X) 4664 |FEtX K&

8A10R | ZD it [—MEZVRKRLSGHFMEDRFHSL (EFIFY) 5220 MXSH VA X VTR v/ Y ZFHET
8R19B | Z0ith [REBERICHSFLE (EFHY) 2@ 7,149 ﬁg%%i;’_iigj@;_”;:;j‘“x
8A228| RE |RABHEAIREAREABH S RE 7000 [fBHEABS &

8A27R| =& |/IMHFEDOYIEHRFE) EFHL(SEED) 5,000 [/MESESFEKIIDME KFHEA

a&t " 40,971




